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1. Define monopoly. Compare monopoiy equilibrium with perfectly
competitive equilibrium with the help of a diagram. Also
illustrate the allocative” inefficiency Qf monopoly

equilibrium. 15
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Explain short run and logg run equilibrium of
a firm under monopolistic competition using
diagrams, ' 9
Explain the concept of excess capacity. Why
does excess capacity exist in monopolistic
competition ? 6
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(@) For the pay-off matrix given below, determine : 9
() Player A’s dominant stralegy
(i) Player B’s dominant strategy
(#if) Wash Equilibrium.
Do not advertise Advertise
Do not 500, 500 250, 750
Advertise ’ ’ ‘
A
' 750, -250 . 100, 100
Advertise
(Figures given above in the Boxes Indicate profits)
(6) Explain the characteristics of public goods. 6
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What is market failure 7 Explain the various sources of market -

failure. a 5
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Explain the concept of externalities with examples. Why g
Government intervention required to produce an optimal level -
of output in such cases. Explain any vne mechanism through

which optimal level of output couid be achieved. 5.5.5
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{@)  Explain how a firm's demand curve for a variable factor

is derived in the short run. 9

(&)  What will happen to the demand curve for a variable

factor if : 6
() - Price of the product rises

(i) More of the fixed factor is used in production,
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{@)  Explain the concept of comparative advantage and how
this can explain mutually beneficial trade between two

countries, 9.

(f)y  Give arguments in favour of protectionism. 6
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Write short notes on any 'fw'o of the fo.l!ou-'ing COTARTA

{a)  Price discrimination

(&)  Contestable markets

()  Adverse selection and Moral Hazard

(&)  Supply curve under monopoly.
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